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int a, b = 3, c = 12;
for (a=3; a< 100 ; a +=2) {

b=>b+ aj;
if (b % 2 == 0) continue;
c=c - b;

if (¢ < 0) break;
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class Kimatsul {
static public void main(String argl]l) {
int i = 46, j;
j = 128;
while (j > 1) {
if (1 >= j) {
System.out.print(1);
i-=13
} else {
System.out.print(0);
}
j/=2;
}
System.out.println(i);

}
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class kimatsu2 {
static public void main(String argl]l) {
int 1 =0, j =2, k =8;
System.out.print(i);
System.out.print(j);
System.out.println(k);

}
o280 0o0oboOooooboooon

googooboboobooooooooobooon
goboooobobbobbobooboobooo



go

god

(1) 200000000000000COOOOOOO
gobogooan

(2) 8bits00O0D0D0000 (256000000000
oo)

(3) 0000000000000 0O0O0O0OO0oOO
goooboooobooobooooobooon
gboboooooobboobooooboboo 10

00000000ooo (0)ooooo
o00o0obo0oooD javad0000O0DO0OO

obOo0ooboooD javad 00000000

)
)
)
(7) 00D0OO00DO00000
) 0000000000000000
)

o0o0oOoo0O 10000000 32pit0000
0oo0oooooo-2300 23 -100000
goooooobooog

(10 DDO0OO0OD 100064bit0000O0OOOO
gboooobbooobooboboobbboooo
001.0010010x2°00000000000000
IEEE-754000000000000000000
gogbooooobooooboooooo2b0000
gdbobOobbooooboodooodddoubledd
oo0Owit0D00001bit0000052bit 00O
gbooooan

(11) 20000000000000OOOOOOOO
goboooobb 1bboogooobooobo

(12) =000000000a =b; 0000bOOOO
gobbobabO0OO0O0OO0O0O

ooo
() 000000000-00000000
(2)0CcO0O0-0C++00D0

(3) O n30 -0 n%0
(4)000000000-000000000
(5) 00000000 0-000000000
)

(6) O privatel -0 publicO0O OO0 DODOODO
0o00-00000000000@OooOooo
0oooo)

(7)) D0000 2600000000000000 -
ooooooooooo

gboboboobobboda=9, b=27, c=-2600
db00OwhileOOODODOOOOODODOOOOOO
gooooo

int a, b =3, c = 12;
a = 3;
while (a < 100) {
b=D>b+ a;
if (b% 2 1!1=0) {
c=c¢c-b;
if (c < 0) break;
}
a += 2;
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